
Toallero de Barra Nuva Nuva Towel Bar

3

10

1
1

4 5 6 7 8
9

11

2

Mod. 9105

1 Sa-223 Plastic Shield Set with 10-16 X 1  1/2” Lag Screws
2 Ra-652 Accessory Anchor
3 Ra-648 10-24 X 24 X 3/8” Allen Setscrew
4 Ra-649 8-32 Unc 24 X 1  1/2” Allen Screw
5 Ra-656 No. 8 Pressure Washer
6 Ra-653 Support Base
7 Ra-650 10-24 - 24 X 1  1/2” Allen Screw
8 Ra-667 No. 10 Lock Washer
9 Ra-647 Accessory Support
10 Ra-644 Towel Holder Bar
11 Sf-233 3/32” Allen Wrench With Bag

No. Clasif. Descripción                                                   No.   Clas.           Description

1 Sa-223 Jgo.Taquetes Plast. con Pijas 10-16 X 1  1/2”
2 Ra-652 Ancla para Accesorios
3 Ra-648 Opresor Allen 10-24 - 24 X 3/8”
4 Ra-649 Tornillo Allen 8-32 Unc 24X1/2”
5 Ra-656 Arandela de Presión No.8
6 Ra-653 Base Soporte
7 Ra-650 Tornillo Allen 10-24 24X I” 1/2”
8 Ra-667 Rondana Presión No.10
9 Ra-647 Soporte para Accesorios
10 Ra-644 Barra para Toallero
11 Sf-233 Llave Allen 3/32” con Bolsa

Características:
Accesorio de
Semiempotrar
Paquete de Sujeción
Incluído

Datos Técnicos:
Material:
Latón

Features:
Wall Mounted Accessory
Setting Kit Included

Technical Information:
Material:
Brasss


